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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 2 e, s &1 & FF e ge FAer 2 AR 3 9T & Ry S ar ew S
#,mﬁw@wﬁméﬁaﬁrsd&ﬁmﬁraﬂaﬁrﬁlméﬁé sqfrg-é

off A il "TEat Uk Wy W A IR Thr B T HE AT H e
AT TRET?

Two pipes, when working one at a time can fill a cistern in 2 hours and 3 hours,

respectively while a third pipe can drain the cistern empty in 6 hours. All the three pipes
were opened together when the cistern was % full. How long will it take for the cistern to

be completely full?

Ans hd
o 1R

1 hour
,1ue 20 e
1 hour 20 minutes
x3'1 e 30 e
1 hour 30 minutes

.15 15 e

1 hour 15 minutes

<

v

Q.2 F@r & vF aEg # 12% FlT & WAL 220 F 7= famwml 10% @07 & fAw 597
FH aF] & Hed H focdelr ST wfge ar?

Jurko sold an item for 220 at a loss of 12%. By how much should she have raised the
price to make a profit of 10%?

Ans 1 T 05
« 2355
X344
7434840

93 1.004 — 0.4 FEF T

1.004 — 0.4 is equal to:

Ans  of 1 0.604
X 21
X 3.0.006




< 4.0.640

O T 7 @ ST @ o el 7
Which of the following solutions is alkaline?
Ans 1 [H*] = 1 x 10~*Mol/l
W 2 [H*] <1 x 107"Mol/l
X 3 [H*]>1x 10""Mol/l
X 4[H*]=1x10""Mol/l

** [KIA]®

1 2 3

4 5 6

D= | A

7 9

ofg R o RSt 1 Faer TF A FIAET Fh O WA AT S @ @ At
¥ g g

If three groups could be formed using the given figures only once, these groups would be

Ans x1.(1,3,?), (2,6,9) 3 (4,3,5)
(1.8,7), (2.6,9) and (4.3.5)

<2 (2,5,7), (1,6,9) 3i¥ (4,3,8)
(2,5,7), (1.6,9) and (4.,3.8)

(157), (26,8) 3 (4.3,9)
(1,5,7), (2,6,8) and (4,3,9)

v. (187, (269) 3T (4,3,8)
(1,5,7), (2.6,9) and (4.,3.8)

<

Q.6




fr ov a7 3w # FiF o1 T 37 JEfrat T oAt s wr g e
TRl § At srpEntad w8 §2

2
5 3
»
# Ed
] ——  Boys )  ——=  Athletics
/N —— cine [ ] ———+ Disaplined

-syoBwEF
-scitelhtARI=mEr
-sIriGer=feraT
-denilpicsiDateTem i

In the below Venn diagram which number space represents the girls who are athletes but
not disciplined?

&) 3 z

a
# k]
[ —— Boys O
/N o  cits [ ———= Disdplined

Ans  of 1. 4
x27
X33
X8

Athletics

Q.7 3cax feT (answer figures) & & fgT 7w @awam =7 (problem figure)dr o=

HOdr ofy &1 =97 F1

o/ o/ o/

B c D

~—
Answer Figures
o%, (43 aN (43
o/
A

.Choose the correct water image of the given problem figure from the answer figures

Ans x1_c
X 2D
Vi3 A
X4+ B

Q.8 g A= fF=fafEa A ¥ Fe s saR g T e s asar &
Dwarfiess can be controlled by treating plants with:

Ans




. A3 = (Cytokinin)
Cytokinin
| o 3Fer (Gibberellic acid)
Gibberellic acid
X ofAfoT (Ethylene)
Ethylene
s HIfFHT (Auxin)

Auxin

v

Q.9 o a& W AR #¥ 3k B o & R @ #a-wr s T R

aF:
FEite FamreE & o B § 3wl seremiEt S smaEor s wer .
Erco e il

AT
1. Afgensit @ gRamw fFeEd
2. S & AT F FH AT = g B

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
The Supreme Court has decided that all rapists will be hanged till death.

Assumption:

1. Women will get protection.
2. The number of rapes cases can be reduced.

Ans X1 e AT 1 T ¢
Only assumption 1 is implicit
xz.“_”" 1dra 2 ?
Neither 1 nor 2 is implicit
X ST AT 2 T ¢
Only assumption 2 is implicit

n 3T 2 @ TIee #

Both 1 and 2 are implicit

v

x

YO qar 7 gfgaa H T FT FAT FET A &
The rate of change of velocity is called:
Ans—  eddUT

W
Acceleration

| .
Momentum

}(3.?'-%

Speed

x s I

Force

X2

Q.11




14, 21 FIT 35 % .. T 27

The LCM of 14, 21 and 35 is:
Ans o 1210
X< 270
< 3140
X a7

Q.12 A$1%MB#6&NC=3I0D+KP
1 ¥ 9T O (3T BiEAfeE) aF & J=a=dt 3w o 35+ a1 e T
& ST o S HIT ¥ 9f=El 98 i @ g

AS1%MB#6&NC=3!0D+KP
Starting from 1 till O (inclusive of both), if every alternate letter or number or symbol is
dropped then the fifth term from right is:

Ans K1-M
vt
X3 8
X4C

Q.13 r=fafla o o oot & 3 fotr o & et et # 2 Fia
vy fEe muea 3

a7 HAAE. EEN oRE F AT F WATT F AT A8 ?

faamg 1 : &, 78 9Rg # So=tE & BT v s S g g

faarg 2 @ 741, Ug 9Nd HR & [T U=ET %7 Us sgdde HiF e gl
Consider the given statement and decide which of the following argument(s) is/are strong.

Statement: Should CBDT abolish income tax in India?

Argument 1: Yes, it is an unnecessary burden on the wage earners in India.

Argument 2: No, it is a good source of revenue for Indian Government.

Ans x1.ﬁﬂﬁ13ﬁT2aﬁﬁ€Tmlﬂﬁﬂ'§i’?I

Neither argument 1 nor 2 is strong.

| Fe famme 2 & w2
Only argument 2 is strong.

| e faae 1 & T #
Only argument 1 is strong.

, B 1 st 2 & weea

Both arguments 1 and 2 are strong.

v

x

<

Q.14 ofer 3mer A7 &7 AT U H &1 20 AT 3 I H Tohed £1 3 3 R 4 Hiwd 52
FH A Faa A AT R
Five men or ten women can complete a job in 20 days. In how many days can 3 men and 4
women complete it?

Ans x1_15
v 220
X325
X 410

Q.15




9T & 3. ¥¥ET @AF 54 T & waw 38 36 ¥ 300 T T o
arer A dgEre & T §1 Uy e dwe 9 wer wer T an

R. Ashwin of India became the quickest bowler to reach 300 test wickets in just 54 tests.
‘Where was this historic test played?

Ans FTAR

Q.16 Zr wEamsdt & Tuawer 20 #l 39 & v WEAr 1.25 B qEl WA #4487

The product of two numbers is 20. One of them is 1.25. What is the other number?
ans <112
X215
X314
V416

Q.17 ey FaEY sEAPR Ae WA [h0 819 & 3o suaey & B far
S &

The Shanti Swarup Bhatnagar Prize is annually awarded for outstanding achievement in
which area?

Ans o, AT FHA Qe
Tribal Art Forms
AR e weia
Indian Classical Music
| o= 3R T

Science and Technology

ke

Literature

K2

v

F 8

Q.18 Tr=fafaa & & #l=r a1 geffeor wenfas gt w smnfia §2
Which of the following classifications 1s based on atomic numbers?

Ans :‘HT'E]ﬁEF 3T|E|ﬁEF Hm
e
Modern Periodic Table

52
H2ela F1 afts arofl (Mendeleev's Periodic Table)
Mendeleev's Periodic Table

K3
I FT 1538 & fo19#7 (Dobereiner's Law of Triads)

Dobereiner’s Law of Triads
x 4 3iferced @ +gelsa WA

Newlands Law Of Octaves

Q.19




= el 3

—4—(-T—12+4) =2
Solve the following.

—4—(-7—12+4) =2
Ans X 1.0.75

K2 -2

VN

X414

Q.20 7 5 @%s & fardr a5g 71 391 5 T WA WS & wEaT 10 Hiex 9 ws
g =& & g caor TR 7

If the initial velocity of a car is 5 m/s, and the final velocity is 10 m/s in 5 s, then the
acceleration is

Ans %, 01 Hrerafa Tt aes
0.1 m/s?

|1 aley oy =@ ds
1 m/s?

, 5 A 9fy T a3
5 m/s?

, 107X gfT To1 F
10 m/s?

v

x

x

Q.21 5@ o # o & 549 F AT @1 @ @ o ve 3 Fee Hr g F d=wa
BIE HIUT &HT AT FAT g7

‘What is the measure of the smaller of the two angles formed between the hour hand and
the minute hand of a clock when it is 5:49 p.m.?

Ans 2C1.119°
< 2.120°
W 3110.5°
< 4.120.5°
Q.22 w e dig T o, e A # dlg et T emas R e

AT 627 B 643 ST TF aRT Fr 17 T Hr = T F B 9faw T

was a Chinese Buddhist monk, who studied Buddhist Scriptures at Nalanda and is
famous for his 17 year long trip to India between AD 627 to 643.

Ans x1_$|1%'a1c—rr

Fa-hien
T THaAm

X2
Al Beruni

| TS
Hiuen Tsang
AeTEATS

. Megasthenes

v

54

Q.23




fa= gt &1,

1 1 _
1+5in8  1-5ind

Solve the following:

1 1 _ 9
1+5inf  1-Siné ’
Ans x 1.1
2 2 2Cos%8
X3 0
v 4 2Sec?0

W A R ov Ry & BFaw 79 &2

What is the number of squares in the following figure?

Ans x18
xX27
<34
V5

Q.25 57 T 1 799 & S I 98 ¥ 8 S veN @ TaEfhT &, S8R gm
9g Tger Ug & T

F ;A A

Select the option that is related to the third term in the same way as the second term is
related to the first term.

Work : Joule :: Power :
Ans
x 1 ot

Strength

Q.26 3RT =Ee, WA ¥ afEh g, I FeEn @ [y o =
2l

The Indira Point, the southern point of India, is situated in the tip of Great
Nicobar Island.




Ans Scadr

eastern

gfarofr

southern
qifErAT

western

W 3

F 8

Q.27 e AT I & Tl T FUET (3T SolaTeh g formeh sarg 7 §érey iy e
4 TEHER & | TemeRy ST w7 = 21 Wt ¥ 8 T o 3 A smaewes ey
AT FATE?

A spherical glass vessel has a cylindrical neck 7cm long and 4cm in diameter. The
diameter of the spherical part is 21cm. Find the quantity of water it can hold.

Ans 1 4932 o HEHRT

4932 cm?

4930 T TEHRET
52

4930 cm?

4929 g HEHET
K3

4929 cm?

4939 g7 TAHET
v

4939 cm?

a2 T g 3x+y =13 px +2y=5F
S FY Pl IRHS g 6T g, Al

The pair of linear equations 3x +y = 1 and
px + 2y = b5 has no finite solution if

Ans x1_ pEﬁ

2 P=6
X3a0<p<6
K4 P=0

Q.29 Has AR gFEEE F 99 FE-Fhs W O wfe s F e swa B
For ¥ FAeeT T FT W@ 7

India is collaborating with which country to set up a high-speed rail link between Mumbai
and Ahmedabad?

Ans KL aﬁm.

Germany




foea

Britain

5 4

Q'30 Distribution of various Minerals in Human

Body
Sodium

%
Potasium g,
0%
Caicium
25%
iron

18% Magnesium

®Cakium  ® Magnesiom #lron W Pctasium  ®Sodium

Distribution of various minerals in the human body- AT X & Rft==
Toeew =1 fawor

Calcium- Hferrrer

Magnesium- HITR=EH

Iron- #gT

Potassium- grefare

Sodium- TifETw

@ = I AT R’ # @At 7 A @ K@ § ) A R 7 e
o Wil T HERTRAT FAT Wi 7 gl 87

Distribution of various Minerals in Human

Body
Sodium

5%
Potasium gy
0%
Calcium
28%
iron

16% Magnesium

mCakium ® Magnesium % lon  mPetasiom  m Sodium

The given graph shows the distribution of minerals in the human body.
Which two minerals are required almost in the same percentage for the human body?

Ane v AEEA AT s
Sodium and potassium
| FenfTa i defRma
Magnesium and potassium
o, PIoRTH 3R AfsTH
Calcium and sodium

x4_ﬂ:1%amﬁ3m:‘-h:ﬁﬁmﬂ

Calcium and magnesium

x

Q.31 fr=faf@a # ¥ &l & aig FAY & TIA T /A FT F B § ?
‘Which of the following metals is a liquid at room temperature?

Ans wfEgE

Q.32




o= & @ FiF ¥ v 7 399 g @ pH # A & T o
Thas & w7 F frwr smar 2

Which one of the following is commonly used as an indicator to measure the exact pH?

Ans | gaﬂﬁ;r

Universal indicator

x4 beATThAT (Phenolphthalein)
Phenolphthalein

033 ey et & T W A AT WE AT B oA |

o o | o

mdRalales

A B C

Which of the four figures can replace the question mark?

o .
o

"
+

o

@
miRalales
A B c D
Ans X 1R

Q34 37 fadeq & o9 HY, S & 7S T A@ar 7 30T 3w

HIISIHIE

Select the option that would come next in the given figure series.

HilSHBIH

Ans




+e]

<[IE

Q35 g RS FfEAar Hr e F E TR 5T @A g2
‘Which Indian actor’s biography is titled ‘Anything but Khamosh’?
Ans A Tea{
Ko
Raj Babbar
Dharmendra
el
3.
Shatrughan Sinha
x4 IECICEEECT
Vinod Khanna

K2

v

Q36 37a7 37319 B FIE & FES ACTH ¥ & 2T AT 8
The egg is carried from the ovary to the womb through:
Ans ‘, . %ﬁm
the oviduct
x 2 TsTrer
the uterus
x o T Cpine:)
the vas deferens
x4 arsdrerar Aar

the cervix

Q.37 wiger 7 e AR g Afger gihr gde 2016 F BEAS wi d@ SR
o AeTdEE FT g SHar o

Which team won the 2016 Champions Trophy Women’s Hockey tournament defeating
Netherlands in the finals in London?

Ans xl m

Australia




=T
China

54

Q.38 37 FEaT AL F TIT T A FAARRT TAg T GEOT 78 B

(1, 1), 4, 64), (8, 512), (9, 719)
Select the number pair that does NOT belong in the following group.

(1, 1), (4, 64), (8, 512), (9, 719)
Ans X 1.(8, 512)
X2(1, 1)
W3 (9, 719)
< 4 (4, 64)

Q-39 aﬁ%ﬂ?mﬁw;aﬁxﬂﬂmw%’?

It % 15 equivalent to %, then the value of x 1s:

Ans x1_5
< 218
<34
v 415

Q.40 g Fr waw (FegA M AR B=ar R) T IReamr & HROT e £
TR B ¥ |

The acceleration due to gravity at the surface of the earth (mass M and radius R) is
proportional to .

@41 arferefier SraToy FITRT T T8 FET AT &
The motile germ cell is called a/an:

Ans x1_341$1q’ﬁ‘hﬂ€

Isogamete
HIGT AFHER
X2 °
Female gamete
oA YIHh
Vi
Male gamete

IIHEF
Koa 2
Gamete

042 ey TwaT FT 26% 65 §l TEAT 7T
26% of a number is 65. What is the number?




ans X 1260
X 2 40
v 2 250
X 4 50

QB A AT AT FFT FH 1, 5, 11, 19, 29 F T 2
‘Which of the given options is the pattern of the sequence 1, 5, 11, 19, 297

Ans 1 x2 4 x—2

X2x2—x—1
K3ax2tx+1
vix2yx—1

Q.44 9% FE ag ed@R 97 H gAR AT §, a7 3§ W fFar T |

If a body is whirled in a circle, then the work done on it .
Ans
x 1 fAefifta A& fovar o1 Thar &
cannot be determined

| RUTcH® &
1s negative
AT

x

v

1S ZEro
TPRIcHS ¢
4.

1s positive

x

Q45 wrgdr 2018 & 9T Hr T&W FH FT g2
Who is the Defence Minister of India as of February 20187

Ans HIAT FEIS
X1
Sushma Swaraj

72 eer darEa
Nirmala Sitharaman
AT AT

Uma Bharti

AT ameft
Maneka Gandhi

53

5 4

Q.46 o o 90 faeder 1 g TEfhe & B w1y § a7 i ofE 3O sy
# 3 frdieier ofa ot FA f T § T R g & 39 Afee O% Tgee
# 5 U e FHT A FOT FH AT af rerer 9y 5 § Fw
ofr?

Krishna cycled a distance of 90 km at a certain speed. If he cycled 3 km slower every
hour, he would have taken 5 more hours to reach his destination. What is the speed in
km/hr at which Krishna actually cycled?

ans 118
X215
Va9
X475

Q.47




weeT fOEe & T X IS ATl W IS A

e
>

4

1 A

Choose the correct figure that can replace the question mark.

A e
L

1

Ans x1.2
<21
v 4
x4a3

?

Rl r— -l
24 - [25- {26 - (27 - 28 —-29)}] =7
Solve the following;:

24 - [25- {26 (27 - 28 —29)}] =7
Ans x1._1

X 21
3 -2
vi-3

@49 250 F 46% TRER TET T2
46% of 250 is equal to:
Ans  of 1.115
/< 21035
<3112
<492

4" BIEPRE H AT T 22
What is the atomicity of Phosphorus?

Ans v Braraivas

Tetra-atomic




x o T qIHICaH
Mono-atomic

xo ST
Poly-atomic

< 4 aﬁ:

Di-atomic

Q.51 f2g7 72T S IF F&TT 4 F SR F THEET Fel goifar
FIT T Feol W FHH OEI g g8 Bar ar?

16

14 W Number of students

12

10

(= N oo

& & &
o &
o &

\Q
o)
=

il
z"’QQ
s
q\

The bar graph represents the favourite fruit of grade 4 students.
Which fruit among the given below was chosen by the least students?

16

W Number of students

14

12 +

10 +

(=] b - o oo

Ans

K4
x Mango

Q52 R+JM2$#QR?+O@7F3
FR T egma 1 3TART FE @Iel AT 5
R#+ : J?F : $0OJ :
RHIM2$#QR?*O@7F3
Using the above sequence fill in the blank
R#*: J7F : : 307 :




Ans  of 1 QF #
Ko#@3
X 3. MOF
X 4 QF »
Q.53 =ff@T # ¥ i o BeeT Ry 71v o ¥ wr giur uiafe & getar ¥

Ans

(3R T 3T FL?

HAPPY

Select the option that depicts the correct mirror image for the given word (ignore the size).

HAPPY

X< 1. ABbAH
X 2 YPPAH
v Y99AH
X 4+ HVbbA

Q.54

Ans

FAN AT & 3R &g & 3o - 3ol HHR QU o T § Fiiteh 38
[Ero il i

Metals can be given different shapes according to our needs because they possess the
properties of:

F A0
d=Iar AT drerehar (Ductility and conductivity)

Ductility and conductivity

K2
3mEcaARTar 3R @=RIAE (Malleability and sonorosity)
Malleability and sonorosity

K3
relehal 3R TFRITAET (Conductivity and sonorosity)

Conductivity and sonorosity

v &3
TEeafATar 3T F=7ar (Malleability and ductility)

Malleability and ductility

Q.55

Ans

mmﬁwﬁwm?wmm%mﬁﬁaﬂw@m
T oy famrem ST THaT &

FU:
Tl Feo fawelt &1 welt foet awemes &

forsa:
1. g3t TAeEE fRea &
2. w3l Pt THIES ¥

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
All dogs are cats. All cats are bats.

Conclusions:

1. All bats are cats.
2. All dogs are bats.

Faer fAshs 2 FTEor Far @

Only conclusion 2 follows

v a7




1 3R 2 ael JeERor e §
Both 1 and 2 follow

o, e s 1 Jregeor e ¥
3.

Only conclusion 1 follows
(TN 1 AT 2 TEOT AT
Either 1 or 2 follows

x

x

Q.56

AT AT Ter el &1 38U 1.6 > 100 CE, T aN A 1 A Rege v waifea
BT &, 7% T 3 To AT & Wedier Hehs H Taled glet arel Foragiel ol wear
forae B

Assuming that the charge of an electron is 1.6 x 1071° C, the number of electrons passing
through a section of wire per second when the wire carries a current of 1 A is:

Ans (116 % 10719
X 2.1.6x101°
< 3.0.625 x 1017
v 4625 %1018
Q57 sz v,UaFm s UWHRaga sl X, usaa g ar w, v srfr

Ans

gl

If V is the brother of U, U is the sister of W and X is the husband of U, then W is Vs

by

X7
Mother
X2
e =&/ &3 ST A1 wel/ Ser e smsl (Brother-in-law or sister-
in-law)

Brother-in-law or sister-in-law

v TS ;AT TS
Brother or sister

5 4

== A w w6 a3 ey A w6 @ (Uncle or aunty)

Uncle or aunty

Q.58

Ans

12 + 3(-2 x 3) - (18 + B) T AT AT gEM?
What is the value of 12 + 3(-2 x 3) - (18 + 6)?
X115

<29

vi-9

X 45

Q.59




Rrarmm e AT AR T FH F o 7 FEE § § Oy suw
THEITE T W el TAT ST TR B

FU:
71 3T T = SIS 7 g F HRUT T FET TWER F sEE
T=ATT 9T el AT

FETE:
1. 77 A ST T Seshier ST fehall <A1 =ee|
2. wft FET TR HEEET e BT ser g

Consider the given statement to be true and decide which of the given courses of action
logically follow(s) from the statement.

Statement:
All the central government employees went on strike due to non-implementation of 7th
pay commission.

Course of Action:

1. 7th pay commission should be implemented immediately.
2. All the central government employees should be suspended.

Ans {Tmr-fﬁ T TT 2 T 9rela g 2l
Neither 1 nor 2 follows.
<2 FTeT 2 FT UTeT BT 2
Only 2 follows.
x 31 3t 2 3t Fr 9T T B
Both 1 and 2 follow.
s ael 1 1 Ui g &
Only 1 follows.
Q.60

O Bd
O @
S

ofg R arw Rt &1 9o vE 9 I # di WA ST S A9 @ at

TEEg _ ghn
B| b |
A[E®
Saledi=

If three groups could be formed using the given figures only once, these groups would be

Ans . (1,2,5), (3,6,8) 3iX (4,7,9)
(1,2,5), (3.6,8) and (4,7,9)
_(125), (47.8) 3 (3,6,9)
(1,2,5), (4,7.8) and (3,6,9)
(1.29), 37.8) 3t (4,6,5)
(1,2,9), (3,7.8) and (4.6,5)
" (1,2,5), (3,7,8) 3 (4,6,9)
(1.2,5), (3.7.8) and (4,6,9)

x

Q.61




o 7 T ST ¥ 9 F Faw FIfe Qe & ga w7 7
Which of the following plant tissues is capable of cell division?

Ans 4,1.%31351??

Meristem

SEeH

2.
Xylem

YeerIEAT

. Parenchyma

TFol{ARISAT

. Sclerenchyma

K3

54

22 o S T
One nanometer is:
Ans ' 107" e
10 m
107° #Hrex
10710 m
10° #Hrex
10% m
107 #Arex

10° m

52

K3

v

Q3 fer Tt T Wi R ik M T v R e s r R d @
HieT T YA T4 ¢l

I Ycheh dig &l ot AT & o &F oiig $r el &1 aateT fordar &2

FU
1. Uk ST 0 T DTS goteT 5 e g
2. &= e ST T e oo, o e B AT & Fof g ¥ 20 FreamT
afer &

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the weight of ten iron balls if each ball is of the same weight?

Statements:
1. One-fourth of each ball’s weight is 5 kg.
2. The total weight of three iron balls is 20 kg more than the total weight of two iron
balls.

Ane v T A AT § AT 2

Either statement 1 or 2 is sufficient

52
Hhell U 1 TITTT & FASTH kel YA 2 IJUATTT &

Statement 1 alone is sufficient while statement 2 alone is insufficient

K3
3hell YA 2 TAICH ¢ FATh Hholl 1 HUA AT &

Statement 2 alone is sufficient while statement 1 alone is insufficient
< 4 gl HUa 1 3 2 gIeg g

Both statement 1 and 2 are sufficient

Q.64




S 5@ & 15 9§ ok gl 12 9¥ Tgof o & 57 A HIH & 1.5
offl e go & gy s Hr &2
John is 15 years younger than Jill. 12 years ago, Jill’s age was 1.5 times that of John. Jill is

now __ yearsold.
Ans X130
X 245
v 3 57
X 442
e R d T T
Sound is a:
Ans b
"y TTF e
Mechanical wave
X2 ST G
Tidal wave

. faega IFha o
Electromagnetic wave

x4'ﬂ?—|‘€l’ﬂ'3{ﬁ

Surface wave

x

Q.66 T 1w 3N WAE & HN FFET & AR W e ' # 9 segEa
R AR § &

ABC : ZYX :: DEF :

Select the missing term based on the given related pair of letter clusters.

ABC:ZYX:DEF:_____
Ans of 1 \WVU
< 2 VUW
23 UVW
<4 WUV

Q67 FgeR H AR H FIF-HT T=F T HEIcHT HAT g7
Which state of India celebrates the ‘Sangai Festival® in November?

Ans HERG]
X7

Gujarat
HEHTH
Assam

52

AT
VR
Manipur
x o TS
Tamil Nadu

Q.68 #gew ¥ fow e & @ 39 @1 TpRT = F1 v TEy 777 W £ 2

Which one of the following is the largest source of natural energy to humans?
Ans




F 8
Animals

Q.69

10 Tl % WAg & Wredier & AT 20 g A 7Ag # ¥ vh oF Wed 4
ar d wog 7 dhae sgwt 21 & AT # T v o F A @ W
TR AT S geeT 20.6 & 7T 8l TAg & 9 9T o9 AR wE &
AT enfirer 9 % WIedik & Ea g

The average marks obtained by a group of 10 students were 20. One student left the group
as a result of which the average of the remaining students rose to 21. But another student
joined, as a result of which the average marks of the group dropped a bit and became 20.6.
What were the average marks obtained by the student who left and the one who joined?

Ans ?(1~16
X 215
X313
v 414
Q.70 9T # Aafwar=a gy o Fia § o 2018 & IR ¥ 39T FITAT

Ans

Tgor fmam &7
Who is the newly appointed Foreign Secretary of India who took charge in early 20187

v o Fee e
Vijay Keshav Gokhale

X2 AT AEl e
Rajni Sekhri Sibal

| 39T Teir
Usha Rani

. fafos FAR aeT
Nitin Kumar Yadav

x

x

Q.71




3T 3’ =T (Answer Figure) &7 =19 &Y AT 99 =T (Problem Figure) &
o T # T @ ¥ 39 g

Problem Figure

a7
LY
JAVAE

Answer Figures

NVAlSd

A B CD

Problem Figure - @&Ear =2, Answer Figure - 3ea¢ =
Select the Answer Figure that will correctly fit in the blank space in the Problem Figure.

Problem Figure

A7~
€A
JAVAE

Answer Figures

L1/

A B C D

Ans x1D
X2C
3B
v A

Q.72 farr gfaera wlietor & & ot x — Sl x =< ¥ o cfEra weler A R v
& for@r S Hepar 87

The two roots of an quadratic equation are given as x = iand X = %1 The equation can be
written as:

Ans o 1 2x—1D@Bx+1) =0
K22x+1DBx—1) =0
Xa(2x—-1DBx—1 =0
X4a2x+DBx+1D =0

Q.73 arelr A wrErer & ar Msior 1 oger R F orel-wEnr 5 Hqaa 50 1 ¥
AT EETH 3 1 F IS & T 31 2 F wegww & BfEE B s d
HTAA THe0T H I FRATe A e &7

Two water-squash mixtures, the first with a water-to-squash ratio of 5 : 1 and the latter

with a ratio of 3 : 1 are blended in the ratio 3 : 2. What is the final water : squash ratio in
the blend?

Ans X153
<261
Vi34

X410 : 9
7 wogfafams seERs Y @
Aluminium oxide is in nature.




ECAR: G
neutral

(4.3mmﬁ

amphoteric
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Q7% FNSIeRIT EIUT T Tl 1 hg AT g & ?

Ans

What is the Centre of Curvature of a spherical mirror?
W
TE 3T WEer 7ier I g gaT § TS Aee YT Ue o AT ¥ |
It is the centre of a hollow sphere of which the spherical mirror is a part.
x 2
TF Iead TUVT & AET ¥l W & W fag § owd werr 7 ot am @
wee g &

It is a point from which the rays of light appear to be coming from on the principal axis of
a convex mirror.

Tg MR GHOT & AeARg gier ¢ |
It is the midpoint of a spherical mirror.

54
AT AT I W OF fig A ¢ A T FET 7T F TAWG T B
fmot sfafde & ar = § |

It is the point on the principal axis through which rays of light parallel to the principal axis
pass after reflection.

K3






